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H:follows i ¥ C:follows +hen

Converse: Exchanging the hypothesis and conclusion in a conditional statement (if...then).

example: If it is sunny out, then you will see your shadow. -T_T' ve

converse: If you see your shadow, then it is sunny out. iruoe

This example and its converse are both true, but not sentence and its converse will be true.
H Cc —_
example: If it is snowing, then itis cold outside. lctve

converse: I it is cold out, then it is snowing. Folse

Are the previous example and its converse both true? NO
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We will be using the concept of converse to help us to prove that lines are parallel if we are given

certain angle-pair relationships. We will start with the Converse of the Corresponding Angles
Postulate.
H

Corresponding Angles Postulate: If two parallel lines are cut by a transversal, then the pairs of
corresponding angles are congruent.

[« .
Converse of the Corresponding Angles Postulate: If two lines are cut by a transversal so that

the pairs of corresponding angles are congruent, then the lines are parallel.

giveJn&ng.Qa_ Paxlts

/ -4 ( S
L2 /3 : -t Ifil=s3, 22=2-4, 25=.7,and £6 = £8, then
8,7 6,775

H paxrs o?c::naroer\'t,
Corcesponding angles .
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The Parallel Postulate: If given a line and a point not on the line, then there exists exactly one

line through the point that is parallel to the given line.

Trhere is eKOJ_‘\'.QS one IQM.Q throu ? ok is PG.XC&Q.Q.&“'DW\-
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Parallel lines that are cut by a transversal create several pairs of congruent or supplementary angles.
These special angle pairs can also be usedto prove that a pair of lines is parallel.

Alternate Exterior Angles Converse YA X

If two linesin a plane are cut by a transversal 5o "3
that a pair of alternate exterior angles is

congruent, then the two lines are parallel. ¥ = 23, el

N\
- - J
Consecutive Interior Angles Converse v PO
; ; - ~ L
If two linesin a plane are cut by a transversal so : 5-._‘

that a pair of consecutive interior angles is

supplementary, thenthe two lines are parallel. ¥m2a + mss =180, then g 4

Alternate Interior Angles Converse VY

. . = 3 : .-.". L
If two linesin a plane are cut by a transversal so "8
that a pair of alternate interior anglesis b b

congruent, then the two lines are parallel.
W26 = 2B, then gl 4.

Perpendicular Transversal Converse

¥
'
In a plane,if two lines are perpendicular to the = o F
same line, then they are parallel. L] - g
T

e Lrandg L rithengll ¢
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Given the following information, determine which lines, if any, are parallel. State the postulate or
theorem that justifies your answer.

a sd=.6 —» a4 -e_x{-.ansQo_S "

2 |fn By the N
ok ext. L Con\NRrse \4 - m
b. 220 —x ot rnt eraggg B T”

,U\m by the
afld- int: L Comverse
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C. Find the value of x so that a || b. Show yourwork.
m L MRP=5x+7 104 - it
m Z_RPN=7x-21\ OU\3Q_Q_3 ¢~—Lixt7

By the ot int: £ converse |
L MRP &= L RPN rn ordar
for alls.

How T Set miMmRe= m RPN,

S5x+7 = 7/%-2\
5% (9%

=2y-2|

2\ \2 +2.|

5 - D
el
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d. Find the value of y so that e | f. Show yourwork.

el d
4y +10=220 A
-0\ -0 )
L*._\L_: %__D_ o [
| < ‘POr e\\-?, Lo mdfokj_g,’-.

033 L +ransuersal
COY\\\thg.)
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e. In order to move in a straight line with maximum efficiency, rower's oars should be parallel.
Refer to the photo below. Is it possible to prove that any ofthe oars are parallel? If so, explain
how. If not, explain why not.

1O # (00O

Covrrespondr o
058 SERTAD — e e

nok PQ‘(O&Q.LQ,
bkﬁ converse of

correspondia
anggs p%st. J
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